Urban Transportation

Issues:

1. How do commuters pick a travel mode, and why do so few choose mass transit?

2. What are the relative costs of different transit systems (heavy rail, light rail, and buses) and how do they compare to the costs of an auto-based system?

3. Is there a dark side to light rail?

4. Are high-occupancy vehicle lanes effective in increasing vehicle occupancy and decreasing congestion?

5. How would privatization of urban mass transit affect the features of the transit system, ridership, and costs?

Mass Transit Facts:

1. A small percentage of metropolitan commuters use mass transit:  6% for all metropolitan commuters, 11% for central-city residents, and 2% for suburban residents.

2. About 61% of central-city transit riders use the bus and 38% use heavy rail (subways and elevated trains).  

3. Among the fewer suburban mass transit users, 77% use the bus and 21% use heavy rail.  Relatively few use light rail, although it gets a lot of attention among the press.

4. About 40%of metro workers commute from one suburb to another, with almost no use of mass transit.  Transit usage is highest among commuters from one suburb to the central city/

5. Trends in mass transit use have decreased with total ridership in 1995 about 45% of ridership in 1950.  The largest reduction have been in bus transit use.  New light-rail systems are gathering ridership.

6. Ridership in mass transit varies considerable among cities, varying from 24.8% of workers in New York City to 2.0% in Phoenix. Other percentages are: Los Angeles CMSA 4.6%, Chicago 13.4% Washington, D.C. 11%, Houston 3.7%, and Denver 4.0%.  Obviously, population density and age of the city are major factors affecting mass transit use 

7. The demand for transit is price-inelastic—between -0.20 and  -0.50.  Demand is responsive to time savings with time elasticities of line-haul savings estimated to be -0.40 and access time in waiting about -0.70.

8. Income is a principal determinant of the value of travel time, estimated to be about one-half the wage income that could be received while commuting. 

9. The elasticities of noncommuting trips are higher than for commuting trips.

Choosing A Travel Mode:  The Commuter

1. The modal choice is based on minimization of the total cost of travel (the sum of time and monetary costs)

2. The commuting trip can be divided into three parts:  (a) the collection phase, (b) the line-haul phase, and (c) the distribution phase.

3. Example of White v. Green 

The Role of Policy:

1. Subsidized transit

2. Line-haul time

3. Collection and distribution time

4. Auto monetary costs (congestion tax)

5. Parking cost

6. Wage

Who uses mass transit?

1. Closer proximity to stops and stations

2. Lower opportunity cost (low wage worker, student, retiree)

3. Low walking cost (collection and distribution)

4. Disutility of driving (hassle and anxiety)

5. No automobile

The Design of Transit Systems

1. Integrated bus, light-rail, and heavy rail

2. Emphasis on bus flexibility with auto use

3. HOV vehicle facilities

4. Relationship between capital cost, operating cost, performance, and travel utilization.

a. Light rail has higher capital cost than buses

b. Light rail has higher operating cost that buses

c. Light rail takes passengers out of buses

d. Light rail impact on land use?

Reasons for Transit Deficits and Justification for Subsidies

1. Low fares to attract riders or to subsidize users

2. Increase wage of transit workers

3. Increase in transit mileage to low-density suburban areas

4. Decrease in labor productivity (employment between 1970-1995 increased 66 percent while ridership dropped by 9 percent)

5. Are transit subsidies justified?  (Externalities and income subsidies for other reasons)

Policy Reform:  Contracting and Paratransit

1. The rationale for restricted entry in public market

a. Cross subsidization needed

b. Scale economies suggest natural monopoly

2. Private firms can lower costs

a. They pay lower wages

b. They have more flexible work rules

c. They use minibuses on low-density routes 

d. Example of Phoenix’s private bus company

e. Estimated cost savings of between 15 and 35 percent for cities

f. Paratransit could use jitneys to supplement private auto use and taxicabs for journey to work trips.

